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Question Number : 2 Question Id : 9593767202 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong : 1

If two commodities are perfect substitutes, the shape of the indifference curve:
Options :

1 « Will be a straight line B y

¥ mpcareerIn

» % Will aright angle

- % Will slope downwards

4 » Will slope upwards

= % Wwill be a parabola

Question Number : 2 Question Id : 9593767202 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong : 1
I ar quT Ut FUTATTeA & Al HATOATA/3ETEAAT J% T AR |

Options :

1JWT@TM
3.u?ﬂ?}ﬁ3ﬂ1’m3ﬁﬂ'
413W£|'3mm3’ﬂﬂ'
5RWM

Question Number : 3 Question Id : 9593767203 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

If the shape of demand curve is rectangular hyperbola. the price elasticity is equal to:

Options :
1. ¢ one

> % less than one
3 ® Zero

4 % greater than one

s % less than zero é‘; mecareeR N

SR CRrBO HET

Question Number : 3 Question Id : 9593767203 Question Type : MCQ Disnlay Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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Correct: 2 Wrong: 1 é MPCAREERIN
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grem|

Options :
1. ¢ Uch

> % Tdh " FH
3 % T

4 % TH ¥ FO=
- x WIHFHA

Question Number : 4 Question Id : 9593767204 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong : 1
Consumer’s surplus is the difference between:

Options : YL‘:. MPCAREER.IN

LI RS TS0
; « the price that the consumer is willing to pay and what he actually pays

~» % the income and expenditure
3 % total revenue and total cost

4 % supply and demand

total revenue and profits

Question Number : 4 Question Id : 9593767204 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong : 1
SusitEar ey F & FT A @ B

Options :

i » I€ T S 3UHIFAr JHAT TEA g IR TF HeT A 9F IEAT H JHAT &

> % T AT =T

Ffe v AT

;_,m' T8 U9 ﬂ?l'ITFI'

Question Number : 5 Question Id : 9593767205 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong : 1
Cobweb model is applied to explain the theory of:

Options : g
5 MPCAREER.IN

, % production W oo cons

- % consumption

https://mpcareer.in/



B 4
5 » employment W
4 % distribution
=  demand. supply and price over long run

Question Number : 5 Question Id : 9593767205 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

FaaT ASH FT 3IAT F faea 1 carewr 7 & Fmar 2
Options :

1p83t_‘q13?

5 % 39T

3&ﬁ-’igﬁ-?-r - B

4 » fEagor ——
 SrFTe # AN, 3fa 0 Jq5 T
Question Number : 6 Question Id : 9593767206 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
Correct: 2 Wrong: 1
Under the principle of equi-marginal utility. the equilibrium is the point where:

Options :
MUx MUy
L. Px Py
MUx MUy
-
> 8 Px Py
MUx MUy
3 & Px Py
MUx MUy
<
4 ® Px Py
MUx MUy
5 ® Px Py

Question Number : 6 Question Id : 9593767206 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
TAAAT 39T & ffaa & a9, gwaaer ag &g s grar
gl

Options :
MUx - MUy
1. ¢ Px Py
MU MUy
: x > iUy
o 8 Px Py
MUx _MUy
3 ® Px Py

e https://mpcareer.in/
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Question Number : 7 Question Id : 9593767207 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

If two factors are complementary to each other, then the shape of the isoquant will be:

Options :

, w vertical straight line

5 o right angled shape

% concave to the origin

convex to the origin

= % horizontal straight line Wy

> MPCAREERIN

Question Number : 7 Question Id : 9593767207 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
IfE 3T FRF TH-GEL & TH &I, al FACAG I HTHia gt

Options :

% Fearyy defr @
v THPIOT N AT
& 3EH W HEAT
, % 3SIH T Ieael
s_ﬁéﬁ?mm

0 B

Question Number : 8 Question Id : 9593767208 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

If the income effect is positive for both the goods X and Y. then the income consumption curve will slope:
Options :

i upward to the right

> % backward to the left

- » parallel to OX axis

4 » downward to the right

c % parallel to OY axis

Question Number : 8 Question Id : 9593767208 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
Correct: 2 Wrong : 1

Vi
> MPCAREERIN
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Options :

lvmﬁaﬂ\naﬁ
. x 9 # 3R, a0
5 % OX 387 & HAEATAT
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Question Number : 9 Question Id : 9593767209 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Revealed preference theory was developed by:
Options :

1 « Prof. P. A. Samuelson

> % James Tobin

Y

5 % Hicks-Allen g "o2eesr
4 % J.R. Hicks

e % Dupitt

Question Number : 9 Question Id : 9593767209 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
Correct: 2 Wrong: 1

Yehe F{aar fEa & ZanT A fomar s o

Options :

| o T . T FFgUeRA

> % JAFY AfEAT

- « TBFE-TeT

- M%W
3T

5 % 2R

o

Question Number : 10 Question Id : 9593767210 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In Cobb-Douglas production function the elasticity of factor substitution is equal to:

Options : TK MACAREERIN
1.« one =¥ remer
> R two
3 % four

4 ® three https://mpcareer.in/
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Question Number : 10 Question Id : 9593767210 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
FE-ZTH 3UCH Fold H FIF IATAIA H TeATEATT T AT
g &

Options :
1 ¢ Uch -

% prpm—
3 8 W
4 % are

AT

58 ‘&

Question Number : 11 Question Id : 9593767211 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The only possible equilibrium positions in an Edgeworth production box is where:
Options :

, = Iisoquants intersect each other

5 o isoquants are tangent to each other

% Isoquants intersect outside to ridge line

w

% 1soquants are parallel to each other

% 1soquants intersect on the ridge lines vy
g MPCAREERIN

i

TR CA OO TSR
Question Number : 11 Question Id : 9593767211 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct: 2 Wrong: 1

THIY 3UCA TFY H THATT THT WEISEAT RATHAT F@7 g § e
.aﬁmt'a:-qma#m%l

A TEH-gE F T @ gl
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1
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Question Number : 12 Question Id : 9593767212 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
The ridge lines are the locus of points of isoquants where marginal product of one of the factor is:

Options : =

Q MPCAREERIN
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1 ¢ Zero
~> % less than one

equal to one

4 % more than one

negative

Q MPCAREER.IN
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Question Number : 12 Question Id : 9593767212 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Correct: 2 Wrong : 1

Fewh (WY, FACITEr & 3 g3t #1 guy § @ vF FRF #1 @A

3 @ gl

Options :

R

> % Th H FH
3 % Teh o S&T
T ® FUew
5 % RUMcHD B

o
%

b; MPCAREER.IN

Question Number : 13 Question Id : 9593767213 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Correct: 2 Wrong: 1

Increasing returns to scale is due to:
Options :

1 « existence of external economies

> % existence of external dis-economies

over expectations of the market conditions
increase in the demand for the product

s % inflation

Question Number : 13 Question Id : 9593767213 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Correct: 2 Wrong: 1

FuTer sfAfawer (=R eed T e fFaes T gar 82

Options :

| v SET e Rufaat & dfEass & Fror
5 % FET e TufEar F wEaa F FRor

- % ST Teufaar fr 3 3rdemst & Fror
. x 3c91g Fr ART 7 T @ F FROT
[AeTERIe

Vi
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Question Number : 14 Question Id : 9593767214 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct: 2 Wrong : 1

Who assumed the 'weak ordering' as a principle to explain the behavior of an ideal consumer?
Options :

1 % Adam Smith
> % Alfred Marshall
3 % Samuelson
4 « J.R. Hicks
5 % AIrow

Question Number : 14 Question Id : 9593767214 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1

T ITHFAT & STIGER HT SATEDT Fld & o0 Faa efor FH8eor #:r
BT & §T H AET A41?
Options :

| % UsH Ay
. HFOUeHA

2

5 % T

o

Question Number : 15 Question Id : 9593767215 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
For the firms and industry to be in equilibrium in the long-run. it is essential that. in the long run the
normal price should be equal to the:

Options :
1 % total cost

Q MPCAREER.IN
G GRS TS

-~ % marginal cost

- % average cost
4 » selling costs

=  marginal and average cost

Question Number : 15 Question Id : 9593767215 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1

ST # fasaral UF 3SANT F WEAEENT H @ ¥ v, 77 aaas §
& ddwe § TEeT g5 & FrET &

Optos e https://mpcareer.in/

5 MPCAREER.IN




Y
5 MPCAREER.IN
Pl AT L]

G GBS TS
> % HAE &eT
5 % HEd @
4 % Tor wreTar
s v HET #HR HEg Fea
Question Number : 16 Question Id : 9593767216 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct: 2 Wrong : 1
Under dumping. the foreign market demand curve faced by the monopolist is:

Options :

1 % vertical line
> « horizontal line
- % increasing upward curve

4 » downward sloping curve

5 ® concave curve 4V i

a}, MPCAREER.IN
G GBS TS
Question Number : 16 Question Id : 9593767216 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Correct: 2 Wrong: 1

gres (37eT) & JEd, TeueRaR arT o el areR AnT I #+
AT faar ST ¥ 9% g &l

Options :

1%3‘3&“@

2,#&"\'%?@

_ x TR H AR FEA O TH

, x T T FEOT BT g3 T

91

Question Number : 17 Question Id : 9593767217 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1

Who developed the theory of long-run group equilibrium by means of two demand curves?
Options :

1 # Don Patinkin

~> % Hicks

3 « Chamberlin

4 % Baumol

« Pigou

& = https://mpcareer.in/
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Question Number : 17 Question Id : 9593767217 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical S

Yy
Correct:2 Wrong : 1 5 MPCAREERIN

forger 2 @07 Tt & Aveww ¥ el gEg gewEEy F REd o
Afaa frar ar

Options :
1 “ghﬁﬁ?ﬁﬁf
> » feww

v AFEfoeT

w
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Question Number : 18 Question Id : 9593767218 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

}; MPCAREER.IN

The concept of excess capacity is associated with: S
Options :

, w perfect competition

5 % monopoly

- x duopoly
4  monopolistic competition

= % mmonopsony

Question Number : 18 Question Id : 9593767218 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
sTHAT-3TFT $r rFuon ¥ T gl

Options :

1_3‘@%
2,8m

5 % CEAYUSR
4,&1‘?!‘&1?@@'9%@“&
5uﬂmﬂ'

Question Number : 19 Question Id : 9593767219 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
Who presented the kinked demand curve analysis in non-collusive model to explain price rigidities often
observed in oligopolistic markets?
Options :
1 % Prof. Chamberlin

 —— https://mpcareer.in/
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v Prof. Sweezy Q{Q MPCAREERIN

P
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% Prof. Allen
% Prof. Hicks
Prof. Joseph Bertrand

W

c 8

Question Number : 19 Question Id : 9593767219 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1

IO aTARE & G X8 gl aTell Hod Tarsil $T caredr &l &
fore Ir-gufFafaqur A5 (non-collusive model) # AT ART J% fresrwor
fFaa gvga R ar?

Options :

1 % 9. AFEforT

2. ¢ 9. T

et
. % 9T, REw & =
c x 9. FEE §EE

Question Number : 20 Question Id : 9593767220 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In which market situation. the firms in a particular industry decide to join together as a single unit for the

purpose of maximizing their joint profits and to share the market?
Options :
, w Perfect competition

% Monopoly

V]

¢ Oligopoly

w

%« Monopolistic competition

o

%« Duopoly

o

Question Number : 20 Question Id : 9593767220 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

forw aom ufa &, e 3egher ey & wfases a9 @gaa Jamer &
HFTH FF AT TSR F T FE F TS § TF 1Y, TF HFar
THE F T A I F AU a7 22

Options :

| » o7 SferEar

LY

2 % THIOHER https:// mpcareer.in/
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c % AT

Question Number : 21 Question Id : 9593767221 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
Who first introduced implicitly the marginal principle in distribution?

Options : - B
, % Alfred Marshall éj%cgwm;
> % Pigou

5z % Adam Smith

4 % Hicks

« David Ricardo

o

Question Number : 21 Question Id : 9593767221 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

s faaror # doe Bea & BRarT &5 7 ga@ 9w swqq G ar
Options :

1put'<—~ﬂ»—§:=rra??~r

> % T3

5 » UsH fBAy

4?&1%3'9

v 3= st

9]

Question Number : 22 Question Id : 9593767222 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Quasi-rent is the:

Options :

, % surplus income over total cost

-~ u surplus earnings from high fertility land

surplus earnings due to rise in demand
» income derived from machines and other appliances made by man in the short-run

income derived from scarce factors during long run

Question Number : 22 Question Id : 9593767222 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical e r

1
Correct: 2 Wrong : 1 gg’ =

FONvEg mmf e . &1
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Question Number : 23 Question Id : 9593767223 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to neo-classical economists. the rate of interest is determined by:
Options :

, = total capital stock

Yy
5> MPCAREER.IN

> % total investment N e

-  the demand for and supply of loanable funds
by the supply of savings and demand for investment

by the central bank

Question Number : 23 Question Id : 9593767223 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Ag-2mET i & 3gER, s # 7 F Zanr fAufiE g@ar
gl

Options :

L« T T RIS

L » T e

. o Foraeg fafedr & @ oT s
, » Faa & amafe o fAder Hr AT
s % FAT dF

Question Number : 24 Question Id : 9593767224 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The liquidity trap is that portion of the liquidity preference curve where the people will:
Options :

; « hold money with them inactively as the rate of interest is very low

5 ® invest their entire money as the rate of interest is high

invest their entire money as the rate of interest i< low
Y

3. % émncﬂnee&jﬂ httpS://mpcareer.ln/
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4 w keep the money for transaction purposes http s:// mpc areer.in/

= w keep the money as precaution

Question Number : 24 Question Id : 9593767224 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
TTAT (TATAT) 9Ter, STSTar IATAT IF T I HAo g @ AT

Options :

lymaagamaﬁzmmaﬂmﬁwﬁﬁmmﬁmﬁ%‘l

o % SIS T A& F F FROT HUA WX 9 F @30 F 2T &
5 % SO 3T FH X F FNUT H9S WX OF F @3or F1 23 &)
4 % U F A & TASFAT H HIA IH TS &

c % TEURT & ¥ F 97 F 394 IH WS &

Question Number : 25 Question Id : 9593767225 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In the modern theory of interest. interest rate is determined by:
Options :

; = demand for savings and investment

> « IS and LM curves

% demand for and supply of loanable funds

3.
4 » marginal efficiency of capital
5. % demand for investment vy =

D MPCAREER.IN
riht Carver disha

Question Number : 25 Question Id : 9593767225 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Correct: 2 Wrong : 1

s F dyfaes fera #, sarer g7 @ fawiror & SIRT grar g

Options :

| Tl T fAder &g AT

s IS @ LM TF

 Foraey fafedt & AT va gl
x IS Fr WA garar

s % f&aer Fr AT

w

Question Number : 26 Question Id : 9593767226 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct: 2 Wrong: 1 .

;:, MPCAREER.IN
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The economist who viewed profits as a dynamic surplus is: & o

Options :

« G.J. Stigler

M

% Stonier and Hague
« F. H. Knight

% Joseph Schumpeter

i

Question Number : 26 Question Id : 9593767226 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
form arhemedr & Tl Fr Afaeler oA & w7 F S@r ar?

Options :

1,@’?. zﬁm‘é:
. « TR T
s % FEP AFIET N

;gk, MPCAREERIN

! TR RO IR

Question Number : 27 Question Id : 9593767227 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

According to F. B. Hawley. the profits are due to:

-

Options :
1 % introduction of innovation

» Tisk taking nature of the entrepreneur

N

dynamic changes in the economy
monetary policies of the government

= % expectations of uncertainty

Question Number : 27 Question Id : 9593767227 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
T, . glol & HJHR W HT HROT gl

Options :

y AAY F T

o 3TH F AfEHE I # v
5 % eggrar # afaeher agonT

4 % TR A A P https://mpcareer.in/
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Question Number : 28 Question Id : 9593767228 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct: 2 Wrong: 1
According to the classical economists, wages are equal to:
Options :
1 « subsistence level
> % minimum level

% equal to the marginal productivity of labour

» fair wages

o

« equal to the marginal cost

o

Question Number : 28 Question Id : 9593767228 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
MET TR F HER, I ¥ e A 2

Options :

® ri;l\o'ldH i

2.
5 » Hf@Aw F AT FAEHFAT
5®Q=ﬂ'ﬂ'i?rﬂ'l71? g -

s MPCAREER.IN

Question Number : 29 Question Id : 9593767229 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
When factors of production are paid according to their marginal products, the total product would be
exactly exhausted according to the:

Options :

, » Cobb-Douglas production function

> « Euler’s theorem

« Law of variable proportions

w

4 % Law of returns to scale

s % Cob-web model

Question Number : 29 Question Id : 9593767229 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
S 3EH FRH H oA AT 3cAGT F HJAR T fomar e 8, ar
¥ HIER FoT 3G FE-TET XA @ Fer g
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Question Number : 30 Question Id : 9593767230 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Personal income includes all of the following except:
Options :

1 % personal savings

~» % personal income taxes

% dividend payments

w

» undistributed corporate profits

o

c » transfer payments § F——

Question Number : 30 Question Id : 9593767230 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
TFTETT HT H 577 ¥ 0 o &7 37 wshr oafde ga 22

Options :

| % STFAIS §99

o % TAFATT HT FT
|y TSI S$TETA
4,&%%“

Question Number : 31 Question Id : 9593767231 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The difference between Gross National Product (GNP) and Gross Domestic Product (GDP) is:
Options :

1 # excess of subsidies over indirect taxes

- u depreciation

% Ppersonal disposable income

4 % excess of indirect taxes over subsidies

net foreign income from abroad Vi "
; Q MPCAREER.IN
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Question Number : 31 Question Id : 9593767231 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong : 1 ) (p—
Thel T 397E (GNP) 3R @ver ©¥e] 3c91€ (GDP) & |

& &7 a7 T

Options :

| % HUCHET U W FIT HIAF FErIarsit &1 e

4 % HITF TEAATHT @ FUX HTTET FA FT AT
v 3t & A Tt 3o

w

o

Question Number : 32 Question Id : 9593767232 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In the general equilibrium analysis. Don Patinkin has introduced the concept of:
Options :

, % money illusion

» real balance effect

N

% liquidity preference

w

4 % ratchet effect

% ftransaction velocity of money

n

Question Number : 32 Question Id : 9593767232 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
AT wEaEET et A, siw 9t A # HIUROT TFA
#r gl

Options :

, % AfgE ax7

o TEATEER Ferd T
5 % atedr (Fafate) Flzar
4 % (g9 9N

= % A F AAc I

M

Question Number : 33 Question Id : 9593767233 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
‘Employment Multiplier' was introduced by:

Options : é;; MPCAREER.IN
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J. M. Keynes
3 ® J.R. Hicks

4 % A.C.Pigou

s % N.Kaldor

Question Number : 33 Question Id : 9593767233 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
UHIR uTe fhda gFqga famar ar?
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Question Number : 34 Question Id : 9593767234 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
In an inflationary period. the appropriate policy for the RBI would be to:

Options :
1 % reduce cash reserve ratio

L; MPCAREERIN
A Cvoer

> % reduce bank rate

» extend credit to government

w

» sell government securities

c % encourage commercial banks to increase their loans

Question Number : 34 Question Id : 9593767234 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong : 1
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Options :
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Question Number : 35 Question Id : 9593767235 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct:2 Wrong : 1

Transaction demand for money:

Options :

, % Varies inversely with income and rate of interest

5 % varies directly with income and rate of interest
» Varies directly with income and inversely with rate of interest
% Varies inversely with income and directly with the rate of interest

% does not depend on income and rate of interest

Question Number : 35 Question Id : 9593767235 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1 o
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Question Number : 36 Question Id : 9593767236 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
An increase in government expenditure will:
Options :

, w shift both IS and LM curves to the right
> % shift both IS and LM curves to left

» hot affect the position of LM curve but will shift the IS curve to the right
4, w» not affect the position of LM curve but will shift IS curve to the left

not affect the position of IS curve but will shift LM curve to the right

Question Number : 36 Question Id : 9593767236 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
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Question Number : 37 Question Id : 9593767237 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
The real stock of money in the economy increases due to:

Options : § MPCAREER.IN
b . . - P GBS TS
1 % Increase in interest rates -

> % decrease in interest rates

5 % increase in prices

4  decrease in prices

= % Iise in the velocity of money

Question Number : 37 Question Id : 9593767237 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
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Question Number : 38 Question Id : 9593767238 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Keynesian concept of multiplier expresses the effect of:
Options :

. w Investment on consumption

% Ppropensity to consume on savings

2“

g https://mpcareer.in/




